# $q$-Multiplicative Dirac System 

Bilender P. Allahverdiev ${ }^{1}$ and Hüseyin Tuna ${ }^{2 *}$<br>${ }^{1}$ Department of Mathematics Khazar University, AZ1096 Baku, Azerbaijan<br>${ }^{2}$ Department of Mathematics, Faculty of Science and Arts, Mehmet Akif Ersoy University, , 15030 Burdur, Türkiye<br>*Corresponding author


#### Abstract

In this study, the classical Dirac equation was investigated on the basis of $q$-multiplicative calculus. We discuss some spectral properties of the $q$-multiplicative Dirac system, such as formally self-adjointness, and orthogonality of eigenfunctions. Finally, Green's function for this system has been reconstructed.


Keywords: q-multiplicave calculus, Dirac equation, self-adjoint operator
2010 Mathematics Subject Classification: 05A30, 34L40, 39A13, 11D57

## 1. Introduction

The Non-Newtonian calculus (or multiplicative calculus) was introduced into the mathematical literature by Grosman and Katz in 1967 as an alternative to Newtonian calculus (see [11, 12]). In [11, 12], Grosman and Katz made a new definition of derivatives and integrals and turned addition and subtraction into multiplication and division. But until recently, multiplicative calculus did not attract much attention from researchers. Recently, studies on this subject have begun to emerge (see [2, 5, 7, 8, 9, 10, 13, 20]). In 2016, Yener and Emiroğlu introduced the concept of multiplicative calculus for quantum calculus ([21]).
On the other hand, Sturm-Liouville and Dirac problems are among the problems that mathematicians are most interested in. There are many studies on these problems ( $[1,4,15,16,17,22]$ ). Especially, the Dirac system is one of the most important equations in physics since this equation predicts the existence of antimatter and gives a description of the electron spin ( $[15,18,19]$ ).
This study aims to investigate the basic properties of the Dirac system in $q$-multiplicative calculus. According to the authors' knowledge, there is no study on this subject in the literature. Thus, it will contribute to the literature by filling the gap in the literature.

## 2. Preliminaries

Now, we give some concepts of multiplicative quantum calculus $([3,6,14,21])$. Let $0<q<1$ and let $A \subset \mathbb{R}$ is a $q$-geometric set, i.e., $q x \in A$ for all $x \in A$. The $q$-derivative $D_{q}$ is defined by
$D_{q} y(x)=\frac{1}{q x-x}[y(q x)-y(x)]$
for all $x \in A$. A function $y$ which is defined on $A, 0 \in A$, is said to be $q$-regular at zero if
$\lim _{n \rightarrow \infty} y\left(x q^{n}\right)=y(0)$,
for every $x \in A$. Through the remainder of the paper, we deal only with functions $q$-regular at zero.
Definition 2.1 ([21]). Let y be a positive function. The $q$-multiplicative derivative $D_{q}^{*}$ is defined by
$D_{q}^{*} y(x)=\left(\frac{y(q x)}{y(x)}\right)^{\frac{1}{q x-x}}$.

From Definition 2.1, one obtains
$D_{q}^{*} y(x)=e^{D_{q}(\ln y(x))}$,
and
$\left[D_{q^{-1}}^{*} y(x)\right]^{1 / q}=D_{q}^{*} y\left(x q^{-1}\right)$
Theorem 2.2 ([21]). Let y,z be $q^{*}$-differentiable functions. Then we have the following properties.
i)
$D_{q}^{*}(c y)=D_{q}^{*}(y)$,
where $c$ is a positive constant,
ii)
$D_{q}^{*}(y z)=D_{q}^{*}(y) D_{q}^{*}(z)$,
iii)
$D_{q}^{*}\left(\frac{y}{z}\right)=\frac{D_{q}^{*}(y)}{D_{q}^{*}(z)}$,
The $q$-integration is given by
$\int_{a}^{b} y(t) d_{q} t=\int_{0}^{b} y(t) d_{q} t-\int_{0}^{a} y(t) d q$,
where $a, b \in A$ and
$\int_{0}^{x} y(t) d_{q} t=x(1-q) \sum_{n=0}^{\infty} q^{n} y\left(q^{n} x\right),(x \in A)$.
Definition 2.3 ([21]). Let y be a positive bounded function. Then the q-multiplicative integral is defined as $\int y(t)^{d_{q} t}=e^{\int \ln y(t) d_{q} t}$.

Theorem 2.4 ([21]). Let $y, z$ be $q^{*}$-integrable functions. Then we have the following properties.
i)
$\int\left(y(t)^{k}\right)^{d_{q} t}=\left(\int y(t)^{d_{q} t}\right)^{k}$, where $k \in \mathbb{R}$,
ii)
$\left.\int(y(t) z(t))^{d_{q} t}\right)=\int y(t)^{d_{q} t} \int z(t)^{d_{q} t}$,
iii)
$\left.\int(y(t) / z(t))^{d_{q} t}\right)=\left(\int y(t)^{d_{q} t}\right) / \int z(t)^{d_{q} t}$.
Theorem 2.5 ([21]). Let y be $q^{*}$-integrable and $z$ be $q$-differentiable, they are continuous on the interval $0 \leq a<b$, then
$\left[\int_{a}^{b}\left(D_{q}^{*} y(t)\right)^{z(t)}\right]^{d_{q} t}=\frac{y(b)^{z(b)}}{y(a)^{z(a)}}\left(\left[\int_{a}^{b}(y(q t))^{D_{q} z(t)}\right]^{d_{q} t}\right)^{-1}$.
Now we will give the notation we will use in our work.
$y \oplus z=y . z, y \ominus z=\frac{y}{z}, y \odot z=y^{\ln z}=z^{\ln y}$,
where $y, z \in \mathbb{R}^{+}$.

Definition 2.6 ([13]). Let $H \neq \emptyset$ and $\langle., .\rangle_{*}: H \times H \rightarrow \mathbb{R}^{+}$be a function such that the following axioms are satisfied for all $x, y, z \in H$ : i)
$\langle x \oplus y, z\rangle_{*}=\langle x, y\rangle_{*} \oplus\langle y, z\rangle_{*}$,
ii)
$\langle x, y\rangle_{*}=\langle y, x\rangle_{*}$,
iii)
$\langle x, x\rangle_{*}=1$ if and only if $x=1$,
iv)
$\langle x, x\rangle_{*} \geq 1$,
v)
$\left\langle e^{k} \odot x, y\right\rangle_{*}=e^{k} \odot\langle x, y\rangle_{*}, k \in \mathbb{R}$.
Then $\left(H,\langle.,\rangle_{*}\right)$ is called multiplicative inner product space.
Let
$L_{*, q}^{2}(0, a):=\left\{y: \int_{0}^{a}|y(x) \odot y(x)|^{d_{q} x}<\infty\right\}$.
By Definition 2.6, $L_{*, q}^{2}(0, a)$ is a multiplicative inner product space with
$\langle., .\rangle^{*, q}: L_{*, q}^{2}(0, a) \times L_{*, q}^{2}(0, a) \rightarrow \mathbb{R}^{+}$,
$\langle y, z\rangle^{*, q}=\int_{0}^{a}|y(x) \odot z(x)|^{d_{q} x}$,
where $y, z \in L_{*, q}^{2}(0, a)$ are positive functions.

## 3. $q$-multiplicative Dirac system

In this section, we shall study a $q$-multiplicative Dirac ( $q$-MD) system.
Let us define a system of equations
$\left\{\begin{array}{c}D_{q}^{*} z_{1}(x) \oplus\left(e^{-r(x)} \odot z_{2}(x)\right)=e^{-\lambda} \odot z_{2}(x) \\ \left(D_{q^{-1}}^{*}\right)^{1 / q} z_{2}(x) \oplus\left(e^{p(x)} \odot z_{1}(x)\right)=e^{\lambda} \odot z_{1}(x)\end{array}, x \in[0, a]\right.$,
where $r($.$) and p($.$) are real-valued functions on [0, a]$, and $\lambda$ is a parameter independent of $x$; and two supplementary conditions
$\left(e^{\cos \alpha} \odot z_{1}(0)\right) \oplus\left(e^{\sin \alpha} \odot z_{2}(0)\right)=1$,
$\left(e^{\cos \beta} \odot z_{1}(a)\right) \oplus\left(e^{\sin \beta} \odot z_{2}\left(a q^{-1}\right)\right)=1$,
where $\alpha, \beta \in \mathbb{R}$. This type of boundary-value problem is called a $q$-MD system. Denoting in (3.1)
$z=\binom{z_{1}}{z_{2}}$
and
$\Gamma z:=\left\{\begin{array}{c}D_{q}^{*} z_{1}(x) \oplus\left(e^{-r(x)} \odot z_{2}(x)\right) \\ \left(D_{q^{-1}}^{*}\right)^{1 / q} z_{2}(x) \oplus\left(e^{p(x)} \odot z_{1}(x)\right)\end{array}\right.$,
we can write the system (3.1) in the form
$\Gamma z=\binom{e^{-\lambda} \odot z_{2}(x)}{e^{\lambda} \odot z_{1}(x)}$
Now let's define a Hilbert space compatible with system (3.1). Let $H=L_{*, q}^{2}\left[(0, a):\left(\mathbb{R}^{+}\right)^{2}\right]$ be a multiplicative inner product space with $\langle y, z\rangle_{*, q}=\int_{0}^{a}\left|\left(y_{1}(x) \odot z_{1}(x)\right) \oplus\left(y_{2}(x) \odot z_{2}(x)\right)\right|^{d_{q} x}$,
where $y=\binom{y_{1}}{y_{2}}$ and $z=\binom{z_{1}}{z_{2}} \in H$ and $y_{1}, y_{2}, z_{1}, z_{2}$ are positive functions.

Theorem 3.1. $q$-MD operator defined by (3.1)-(3.3) is formally self-adjoint on the Hilbert space $H$.
Proof. Let $z=\binom{z_{1}}{z_{2}}, t=\binom{t_{1}}{t_{2}} \in H$. It follows from (2.2) and (2.1) that

$$
\begin{aligned}
\langle\Gamma z, t\rangle_{*, q} & =\int_{0}^{a}\left|\left(\left[D_{q}^{*} z_{1}(x)\right]\left[z_{2}(x)^{r(x)}\right]\right)^{-\ln t_{2}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left(\left[\left(D_{q^{-1}}^{*}\right)^{1 / q} z_{2}(x)\right]\left[z_{1}(x)^{p(x)}\right]\right)^{\ln t_{1}(x)}\right|^{d_{q} x} \\
& =\int_{0}^{a}\left|\left(\left[D_{q}^{*} z_{1}(x)\right]\right)^{-\ln t_{2}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left(\left[z_{2}(x)^{r(x)}\right]\right)^{-\ln t_{2}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left(\left[D_{q}^{*} z_{2}\left(x q^{-1}\right)\right]\right)^{\ln t_{1}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left[z_{1}(x)^{p(x)}\right]^{\ln t_{1}(x)}\right|^{d_{q} x}
\end{aligned}
$$

By Theorem 2.5, we get

$$
\begin{align*}
\langle\Gamma z, t\rangle_{*, q} & =\frac{\left(z_{1}(a)\right)^{-\ln t_{2}(a)}}{\left(z_{1}(0)\right)^{-\ln t_{2}(0)}} \frac{1}{\left.\int_{0}^{a}\left|\left(z_{1}(q x)\right)^{-\left.D_{q} \ln t_{2}(x)\right|^{d_{q} x}} \times \int_{0}^{a}\right|\left(\left[z_{2}(x)^{r(x)}\right]\right)^{-\ln t_{2}(x)}\right|^{d_{q} x} \frac{\left(z_{2}\left(a q^{-1}\right)\right)^{\ln t_{1}(a)}}{\left(z_{2}(0)\right)^{\ln t_{1}(0)}}} \\
& \times \frac{1}{\left.\int_{0}^{a}\left|\left(z_{2}(x)\right)^{\left.D_{q} \ln t_{1}(x)\right|^{d_{q} x}} \int_{0}^{a}\right|\left[z_{1}(x)^{p(x)}\right]^{\ln t_{1}(x)}\right|^{d_{q} x}} \\
& =\frac{\left(z_{1}(a)\right)^{-\ln t_{2}(a)}}{\left(z_{1}(0)\right)^{-\ln t_{2}(0)}} \frac{1}{e^{\int_{0}^{a}-D_{q} \ln z_{1}(q x) D_{q} \ln t_{2}(x) d_{q} x}} \\
& \times \int_{0}^{a} \left\lvert\,\left(\left[z_{2}(x)^{r(x)}\right]\right)^{-\left.\ln t_{2}(x)\right|^{d_{q} x} \frac{\left(z_{2}\left(a q^{-1}\right)\right)^{\ln t_{1}(a)}}{\left(z_{2}(0)\right)^{\ln t_{1}(0)}} \times \frac{1}{e^{\int_{0}^{a} D_{q} \ln z_{2}(x) D_{q} \ln t_{1}(x) d_{q} x}} \int_{0}^{a}\left|\left[z_{1}(x)^{p(x)}\right]^{\ln t_{1}(x)}\right|^{d_{q} x}} .\right. \tag{3.4}
\end{align*}
$$

Similarly,

$$
\begin{align*}
\langle z, \Gamma t\rangle_{*, q} & =\int_{0}^{a}\left|\left(\left[D_{q}^{*} t_{1}(x)\right]\left[t_{2}(x)^{r(x)}\right]\right)^{-\ln z_{2}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left(\left[\left(D_{q^{-1}}^{*}\right)^{1 / q} t_{2}(x)\right]\left[t_{1}(x)^{p(x)}\right]\right)^{\ln z_{1}(x)}\right|^{d_{q} x} \\
& =\int_{0}^{a}\left|\left(\left[D_{q}^{*} t_{1}(x)\right]\right)^{-\ln z_{2}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left(\left[t_{2}(x)^{r(x)}\right]\right)^{-\ln z_{2}(x)}\right|^{d_{q} x} \\
& \oplus \int_{0}^{a}\left|\left(\left[D_{q}^{*} t_{2}\left(x q^{-1}\right)\right]\right)^{\ln z_{1}(x)}\right|^{d_{q} x} \oplus \int_{0}^{a}\left|\left[t_{1}(x)^{p(x)}\right]^{\ln z_{1}(x)}\right|^{d_{q} x} \\
& =\frac{\left(t_{1}(a)\right)^{-\ln z_{2}(a)}}{\left(t_{1}(0)\right)^{-\ln z_{2}(0)}} \frac{e^{\int_{0}^{a}-D_{q} \ln t_{1}(q x) D_{q} \ln z_{2}(x) d_{q} x}}{1} \\
& \times \int_{0}^{a}\left|\left(\left[t_{2}(x)^{r(x)}\right]\right)^{-\ln z_{2}(x)}\right|^{d_{q} x} \frac{\left(t_{2}\left(a q^{-1}\right)\right)^{\ln z_{1}(a)}}{\left(t_{2}(0)\right)^{\ln z_{1}(0)}} \\
& \times \frac{1}{e^{\int_{0}^{a} D_{q} \ln t_{2}(x) D_{q} \ln z_{1}(x) d_{q} x} \int_{0}^{a}\left|\left[t_{1}(x)^{p(x)}\right]^{\ln z_{1}(x)}\right|^{d_{q} x}} \tag{3.5}
\end{align*}
$$

From (3.4) and (3.5), simple calculations yield
$\langle\Gamma z, t\rangle_{*, q}=\frac{\frac{\left(z_{2}\left(a q^{-1}\right)\right)^{\ln t_{1}(a)}}{\left(z_{2}(0)\right)^{\ln t_{1}(0)}}}{\frac{\left(t_{2}\left(a q^{-1}\right)\right)^{\ln z_{1}(a)}}{\left(t_{2}(0)\right)^{\ln z_{1}(0)}}}\langle z, \Gamma t\rangle_{*, q}$.
Then we have
$\langle\Gamma z, t\rangle_{*, q}=\frac{[z, t](a)}{[z, t](0)}\langle z, \Gamma t\rangle_{*, q}$,
where
$[z, t](x):=\left(t_{1}(x) \odot z_{2}\left(x q^{-1}\right)\right) \ominus\left(z_{1}(x) \odot t_{2}\left(x q^{-1}\right)\right)$.

By virtue of (3.2) and (3.3), we conclude that
$\langle\Gamma z, t\rangle_{*, q}=\langle z, \Gamma t\rangle_{*, q}$.

Theorem 3.2. Eigenfunctions corresponding to distinct eigenvalues are orthogonal.
Proof. Let $\zeta, \delta$ be two distinct eigenvalues with corresponding eigenfunctions $z, t$, respectively. It follows from (3.7) that

$$
\langle\Gamma z, t\rangle_{*, q}=\langle z, \Gamma t\rangle_{*, q}
$$

$\left\langle e^{\zeta} \odot z, t\right\rangle_{*, q}=\left\langle z, e^{\delta} \odot t\right\rangle_{*, q}$
$e^{\zeta-\delta}\langle z, t\rangle_{*, q}=1$.
Then we obtain
$\langle z, t\rangle_{*, q}=1$,
since $\zeta \neq \delta$.
The $q^{*}$-Wronskian is defined by the formula
$W_{*, q}(z, t)=\left(t_{1}(x) \odot z_{2}\left(x q^{-1}\right)\right) \ominus\left(z_{1}(x) \odot t_{2}\left(x q^{-1}\right)\right)$,
where $z=\binom{z_{1}}{z_{2}}, t=\binom{t_{1}}{t_{2}} \in H$. Then we have the following theorems.
Theorem 3.3. The $q^{*}$-Wronskian of any two solutions of Eq. (3.1) is independent of $x$.
Proof. Let $z$ and $t$ be two solutions of Eq. (3.1). By (3.6), we see that
$\left\langle\Upsilon_{z, t}\right\rangle_{*, q}=\frac{[z, t](a)}{[z, t](0)}\langle z, \Upsilon t\rangle_{*, q}$.
Then, we obtain
$\frac{[z, t](a)}{[z, t](0)}=1$,
since $\Gamma z=e^{\lambda} \odot z$ and $\Gamma t=e^{\lambda} \odot t$. Thus
$[z, t](a)=[z, t](0)=W_{*, q}(z, t)(0)$.

Theorem 3.4. Any two solutions of Eq. (3.1) are multiplicative linearly dependent if and only if $W_{*, q}=1$.
Proof. Let $z$ and $t$ be two multiplicative linearly dependent solutions of Eq. (3.1), i.e, $z=t^{\xi}$, where $\xi \neq 1$ ([20]). Then, we obtain $W_{*, q}(z, t)(x)=\left(t_{1}(x) \odot z_{2}\left(x q^{-1}\right)\right) \ominus\left(z_{1}(x) \odot t_{2}\left(x q^{-1}\right)\right)$

$$
=\left(t_{1}(x) \odot t_{2}^{\xi}\left(x q^{-1}\right)\right) \ominus\left(t_{1}^{\xi}(x) \odot t_{2}\left(x q^{-1}\right)\right)=1
$$

Conversely, let
$W_{*, q}(z, t)(x)=\left(t_{1}(x) \odot z_{2}\left(x q^{-1}\right)\right) \ominus\left(z_{1}(x) \odot t_{2}\left(x q^{-1}\right)\right)=1$.
Then,

$$
\begin{gathered}
t_{1}^{\ln z_{2}\left(x q^{-1}\right)}=z_{1}^{\ln t_{2}\left(x q^{-1}\right)} \\
\ln t_{1} \ln z_{2}\left(x q^{-1}\right)=\ln z_{1} \ln t_{2}\left(x q^{-1}\right)
\end{gathered}
$$

$\ln t_{1} \ln z_{2}\left(x q^{-1}\right)-\ln z_{1} \ln t_{2}\left(x q^{-1}\right)=\left|\begin{array}{cc}\ln t_{1} & \ln z_{1} \\ \ln t_{2}\left(x q^{-1}\right) & \ln z_{2}\left(x q^{-1}\right)\end{array}\right|=0$,
i.e., $\ln z=\binom{\ln z_{1}}{\ln z_{2}}$, and $\ln t=\binom{\ln t_{1}}{\ln t_{2}}$ are linearly dependent (see [1]). Hence $\ln z=\xi \ln t$, where $\xi \neq 1$.

Theorem 3.5. All eigenvalues of (3.1)-(3.3) are simple from the geometric point of view.
Proof. Let $\gamma$ be an eigenvalue with eigenfunctions $z($.$) and t($.$) . From (3.2), we deduce that$
$W_{*, q}(z, t)(0)=\left(t_{1}(0) \odot z_{2}(0)\right) \ominus\left(z_{1}(0) \odot t_{2}(0)\right)=1$,
i.e., $z$ and $t$ are multiplicative linearly dependent.

## 4. Green's function

In this section, we study Green's function for the following nonhomogeneous system
$\left\{\begin{array}{c}D_{q}^{*} z_{1}(x) \oplus\left(e^{\lambda-r(x)} \odot z_{2}(x)\right)=e^{f_{2}(x)} \\ \left(D_{q^{-1}}^{*}\right)^{1 / q} z_{2}(x) \oplus\left(e^{p(x)-\lambda} \odot z_{1}(x)\right)=e^{f_{1}(x)}\end{array} \quad, x \in[0, a]\right.$,
where $r($.$) and p($.$) are real-valued functions on [0, a]$, and
$\binom{e^{f_{1}(.)}}{e^{f_{2}(.)}} \in H$,
which satisfy the following conditions
$\left(e^{\cos \alpha} \odot z_{1}(0)\right) \oplus\left(e^{\sin \alpha} \odot z_{2}(0)\right)=1$,
$\left(e^{\cos \beta} \odot z_{1}(a)\right) \oplus\left(e^{\sin \beta} \odot z_{2}\left(a q^{-1}\right)\right)=1$,
where $\alpha, \beta \in \mathbb{R}$.
Let
$\chi(x, \lambda)=\binom{\chi_{1}(x, \lambda)}{\chi_{2}(x, \lambda)}$ and $\psi(x, \lambda)=\binom{\psi_{1}(x, \lambda)}{\psi_{2}(x, \lambda)}$
be two basic solutions of Eq. (3.1) which satisfy the following initial conditions
$\chi_{1}(0, \lambda)=e^{-\sin \alpha}, \chi_{2}(0, \lambda)=e^{\cos \alpha}$,
$\psi_{1}(a, \lambda)=e^{-\sin \beta}, \psi_{2}\left(a q^{-1}, \lambda\right)=e^{\cos \beta}$.
It is obvious that
$\omega(\lambda)=-W_{*, q}(\chi, \psi) \neq 1$.
Theorem 4.1. If $\lambda$ is not an eigenvalue of (3.1)-(3.3), then the function
$z(x, \boldsymbol{\lambda})=\left\langle G(x, ., \lambda),\binom{e^{f_{1}(.)}}{e^{f_{2}(.)}}\right\rangle_{*, q}$,
where
$G(x, t, \lambda)=e^{-\frac{1}{\omega(\lambda)}} \odot \begin{cases}\psi(x, \lambda) \odot \chi^{T}(t, \lambda), & 0 \leq t \leq x \\ \chi(x, \lambda) \odot \psi^{T}(t, \lambda), & x<t \leq a,\end{cases}$
is the solution of the system (4.1)-(4.3). Conversely, if $\lambda$ is an eigenvalue of (3.1)-(3.3), then the system (4.1)-(4.3) is generally unsolvable.
Proof. Assume that $\lambda$ is not an eigenvalue of (3.1)-(3.3). From (4.5), we have
$G(x, t, \lambda) \odot\binom{e^{f_{1}(t)}}{e^{f_{2}(t)}}=$
$\left\{\begin{array}{l}\left.\left(\begin{array}{l}\chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)}} f_{1}(t) \ln \psi_{1}(t, \lambda) \\ \chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{2}(t) \ln \psi_{2}(t, \lambda)} \\ \chi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)}} f_{1}(t) \ln \psi_{1}(t, \lambda) \\ 2\end{array}\right), \quad 0 \leq t \leq x\right)^{-\frac{1}{\omega(\lambda)} f_{2}(t) \ln \psi_{2}(t, \lambda)}\end{array}\right), \quad 0$.

By (4.6), we get

$$
\begin{align*}
z_{1}(x, \lambda) & =\left.\int_{0}^{x}\left|\psi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{1}(t) \ln \chi_{1}(t, \lambda)} \psi_{1}(x, \lambda)^{-\left.\frac{1}{\omega(\lambda)} f_{2}(t) \ln \chi_{2}(t, \lambda)\right|^{d_{q} t}} \times \int_{x}^{a}\right| \chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{1}(t) \ln \psi_{1}(t, \lambda)} \chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{2}(t) \ln \psi_{2}(t, \lambda)}\right|^{d_{q} t} \\
& =e^{-\frac{q}{\omega(\lambda)} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{1}(q t) \ln \chi_{1}(q t, \lambda) d_{q} t} e^{-\frac{q}{\omega(\lambda)} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{2}(q t) \ln \chi_{2}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{1}(q t) \ln \psi_{1}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{2}(q t) \ln \psi_{2}(q t, \lambda) d_{q} t} \tag{4.7}
\end{align*}
$$

and
$z_{2}(x, \lambda)=\int_{0}^{x} \left\lvert\, \psi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{1}(t) \ln \chi_{1}(t, \lambda)} \psi_{2}(x, \lambda)^{-\left.\frac{1}{\omega(\lambda)} f_{2}(t) \ln \chi_{2}(t, \lambda)\right|^{d_{q} t} \times \int_{x}^{a}\left|\chi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{1}(t) \ln \psi_{1}(t, \lambda)} \chi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)} f_{2}(t) \ln \psi_{2}(t, \lambda)}\right|^{d_{q} t}, ~}\right.$

$$
\begin{aligned}
& =e^{-\frac{q}{\omega(\lambda)} \ln \psi_{2}(x, \lambda) \int_{0}^{x} f_{1}(q t) \ln \chi_{1}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)} \ln \psi_{2}(x, \lambda) \int_{0}^{x} f_{2}(q t) \ln \chi_{2}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)} \ln \chi_{2}(x, \lambda) \int_{x}^{a} f_{1}(q t) \ln \psi_{1}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)} \ln \chi_{2}(x, \lambda) \int_{x}^{a} f_{2}(q t) \ln \psi_{2}(q t, \lambda) d_{q} t} .
\end{aligned}
$$

It follows from (4.7) that

$$
D_{q}^{*} z_{1}(x)=e^{D_{q}\left(\ln z_{1}(x)\right)}=e^{D_{q}\left(-\frac{q}{\omega(\lambda)} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{1}(q t) \ln \chi_{1}(q t, \lambda) d_{q} t\right)} \times e^{D_{q}\left(-\frac{q}{\omega(\lambda)} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{2}(q t) \ln \chi_{2}(q t, \lambda) d_{q} t\right)}
$$

$$
\times e^{D_{q}\left(-\frac{q}{\omega(\lambda)} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{1}(q t) \ln \psi_{1}(q t, \lambda) d_{q} t\right)} \times e^{D_{q}\left(-\frac{q}{\omega(\lambda)} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{2}(q t) \ln \psi_{2}(q t, \lambda) d_{q} t\right)}
$$

$$
=e^{-\frac{q}{\omega(\lambda)} D_{q} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{1}(q t) \ln \chi_{1}(q t, \lambda) d_{q} t} \times e^{-\frac{q}{\omega(\lambda)} D_{q} \ln \psi_{1}(x, \lambda) \int_{0}^{x} f_{2}(q t) \ln \chi_{2}(q t, \lambda) d_{q} t}
$$

$$
\times e^{-\frac{q}{\omega(\lambda)} D_{q} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{1}(q t) \ln \psi_{1}(q t, \lambda) d_{q} t} \times e^{-\frac{q}{\omega(\lambda)} D_{q} \ln \chi_{1}(x, \lambda) \int_{x}^{a} f_{2}(q t) \ln \psi_{2}(q t, \lambda) d_{q} t} \times e^{-\frac{f_{2}(x) W_{*, q}(x, \psi)}{\omega(\lambda)}}
$$

Hence, we see that
$D_{q}^{*} z_{1}(x)=e^{-\frac{q}{\omega(\lambda)}(r(x)-\lambda) \ln \psi_{2}(x, \lambda) \int_{0}^{x} f_{1}(q t) \ln \chi_{1}(q t, \lambda) d_{q} t}$

$$
\begin{aligned}
& \times e^{-\frac{q}{\omega(\lambda)}(r(x)-\lambda) \ln \psi_{2}(x, \lambda) \int_{0}^{x} f_{2}(q t) \ln \chi_{2}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)}(r(x)-\lambda) \ln \chi_{2}(x, \lambda) \int_{x}^{a} f_{1}(q t) \ln \psi_{1}(q t, \lambda) d_{q} t} \\
& \times e^{-\frac{q}{\omega(\lambda)}(r(x)-\lambda) \ln \chi_{2}(x, \lambda) \int_{x}^{a} f_{2}(q t) \ln \psi_{2}(q t, \lambda) d_{q} t} \\
& \times e^{f_{2}(x)}=z_{2}^{(r(x)-\lambda)} \oplus e^{f_{2}(x)} .
\end{aligned}
$$

It is proved similarly that the validity of the second equation in (4.1). Further, it is easy to check that (4.4) satisfies (4.2)-(4.3).
Theorem 4.2. Green's function $G(x, t, \lambda)$ defined by (4.5) is unique.
Proof. Suppose that there is another Green's function $\widetilde{G}(x, t, \lambda)$ for the system (4.1)-(4.3). Then, we have
$z(x, \lambda)=\left\langle\widetilde{G}(x, ., \lambda),\binom{e^{f_{1}(.)}}{e^{f_{2}(.)}}\right\rangle_{*, q}$.
Thus,
$\left\langle G(x, t, \lambda) \ominus \widetilde{G}(x, ., \lambda),\binom{e^{f_{1}(.)}}{e^{f_{2}(.)}}\right\rangle_{*, q}=0$.
Putting $f(x)=\ln [G(x, t, \lambda) \ominus \widetilde{G}(x, t, \lambda)]$ in (4.8), we conclude that
$G(x, t, \lambda)=\widetilde{G}(x, t, \lambda)$.

Theorem 4.3. Green's function $G(x, t, \lambda)$ is defined by (4.5) satisfies the following properties.
i) $G(x, t, \lambda)$ is continuous at $(0,0)$.
ii) $G(x, t, \lambda)=G(t, x, \lambda)$.
iii) For each fixed $t \in(0, q a]$, as a function of $x, G(x, t, \lambda)$ satisfies Eq. (4.1) in the intervals $[0, t),(t, q a]$ and it satisfies (4.2)-(4.3).

Proof. i) Since $\psi(., \lambda)$ and $\chi(., \lambda)$ are continuous at 0 , we conclude that $G(x, t, \lambda)$ is continuous at $(0,0)$.
ii) It is easy to be checked.
iii) Let $t \in(0, q a]$ be fixed and $x \in[0, t]$. Then, we get

$$
\begin{aligned}
G(x, t, \lambda) & =\binom{G_{1}(x, t, \lambda)}{G_{2}(x, t, \lambda)} \\
& =\binom{\chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} \ln \psi_{1}(t, \lambda)} \chi_{1}(x, \lambda)^{-\frac{1}{\omega(\lambda)} \ln \psi_{2}(t, \lambda)}}{\chi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)} \ln \psi_{1}(t, \lambda)} \chi_{2}(x, \lambda)^{-\frac{1}{\omega(\lambda)} \ln \psi_{2}(t, \lambda)}}
\end{aligned}
$$

Thus,
$\Gamma G(x, t, \lambda)=e^{\lambda} \odot G(x, t, \lambda)$.
Similarly for $x \in(t, q a]$. Furthermore, we see that

$$
\begin{aligned}
& \left(e^{\cos \alpha} \odot G_{1}(0, t, \lambda)\right) \oplus\left(e^{\sin \alpha} \odot G_{2}(0, t, \lambda)\right) \\
& =\left(\chi_{1}(0, \lambda)^{\cos \alpha} \chi_{2}(0, \lambda)^{\sin \alpha}\right)^{-\frac{1}{\omega(\lambda)} \ln \psi_{1}(t, \lambda)-\frac{1}{\omega(\lambda)} \ln \psi_{2}(t, \lambda)} \\
& =1 \text {, } \\
& \text { and } \\
& \left(e^{\cos \beta} \odot G_{1}(a, t, \lambda)\right) \oplus\left(e^{\sin \beta} \odot G_{2}\left(a q^{-1}, t, \lambda\right)\right) \\
& =\left(\psi_{1}(a, \lambda)^{\cos \beta} \psi_{2}\left(a q^{-1}, \lambda\right)^{\sin \beta}\right)^{-\frac{1}{\omega(\lambda)} \ln \chi_{1}(t, \lambda)-\frac{1}{\omega(\lambda)} \ln \chi_{2}(t, \lambda)} \\
& =1
\end{aligned}
$$

## 5. Conclusion

In this study, the $q$-multiplicative Dirac system is defined. Then, some spectral properties of this problem were examined. Green's function is created for this system. Some properties of this function have been given.
Statements and Declarations. This work does not have any conflict of interest.
Availability of data and materials. Data sharing not applicable to this article as no datasets were generated or analysed during the current study.

## Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.
Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.
Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.
Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.
Availability of data and materials: Not applicable.

## References

[1] B.P. Allahverdiev and H. Tuna, One-dimensional $q$-Dirac equation, Math. Meth. Appl. Sci. 40 (18) (2017), 7287-7306.
[2] B.P. Allahverdiev and H. Tuna, Hahn multiplicative calculus, Matematiche, 77 (2) (2022), 389-405.
[3] M.H. Annaby and Z.S. Mansour, $q$-Fractional Calculus and Equations, Lecture Notes in Mathematics 2056, Springer, Berlin, 2012.
[4] E. Bairamov and Ş. Solmaz, Scattering theory of Dirac operator with the impulsive condition on whole axis, Math. Meth. Appl. Sci. 44 (9) (2021), 7732-7746.
[5] A.E. Bashirov, E.M. Kurpinar and A. Ozyapici, Multiplicative calculus and its applications, J. Math. Anal. Appl. 337 (1) (2008), 36-48.
[6] T. Ernst, The History of $q$-Calculus and a New Method, U. U. D. M. Report (2000):16, ISSN1101-3591, Department of Mathematics, Uppsala University, 2000.
[7] S.G. Georgiev and K. Zennir, Multiplicative Differential Calculus, Chapman and Hall/CRC, 2022.
[8] S. Goktas, H. Kemaloglu and E. Yilmaz, Multiplicative conformable fractional Dirac system, Turkish J. Math. 46 (2022), 973-990.
[9] S. Goktas, A new type of Sturm-Liouville equation in the non-Newtonian calculus, J. Funct. Spaces 5203939 (2021), 1-8.
[10] S. Goktas, E. Yilmaz and A.Ç. Yar, Multiplicative derivative and its basic properties on time scales, Math. Meth. Appl. Sci. 45 (2022), $2097-2109$.
[11] M. Grossman, An introduction to Non-Newtonian calculus, Intern. J. Math. Edu. Sci. Techn. 10 (4) (1979), 525-528.
[12] M. Grossman and R. Katz, Non-Newtonian calculus, Pigeon Cove, MA: Lee Press, 1972.
[13] T. Gulsen, E. Yilmaz and S. Goktas, Multiplicative Dirac system, Kuwait J. Sci. 49 (3) (2022), 1-11.
[14] V. Kac and P. Cheung, Quantum Calculus, Springer, 2002.
[15] B.M. Levitan and I.S. Sargsjan, Sturm-Liouville and Dirac operators, Math. Appl. (Soviet Series). Kluwer Academic Publishers Group, Dordrecht, 1991.
[16] K.R. Mamedov and O. Akcay, Inverse problem for a class of Dirac operators by the Weyl function, Dyn. Syst. Appl. 26 (1) (2017), 183-196.
[17] O.Sh. Mukhtarov, H. Olğar and K. Aydemir, Resolvent operator and spectrum of new type boundary value problems, Filomat 29 (7) (2015), 1671-1680.
[18] B. Thaller, The Dirac Equation, Springer-Verlag, Berlin Heidelberg, 1992.
[19] J. Weidmann, Spectral Theory of Ordinary Differential Operators, Lecture Notes in Mathematics 1258. Springer: Berlin, 1987.
[20] N. Yalcin and E. Celik, Solution of multiplicative homogeneous linear differential equations with constant exponentials, New Trends Math. Sci. 6 (2) (2018), 58-67.
[21] G. Yener and I. Emiroglu, A $q$-analogue of the multiplicative calculus: $q$-multiplicative calculus, Discr. Contin. Dynam. Syst.-Ser. S 8 (6) (2015), 1435-1450.
[22] A. Zettl, Sturm-Liouville Theory, Mathematical Surveys and Monographs, 121. American Mathematical Society: Providence, RI, 2005.

